) 53

Name MQ/{/\ == =i
u'l

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answe

Solve the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.
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A)B=372°b=29,c=236 B) B =237.2°, b=347.7, c=281.1
C) B =36.8°, b =2785, c=347.7 @ =37.2° b =281.1, c=347.7]

Two sides and an angle (SSA) of a triangle are given. Determine whether the given measurements produce one triangle,
two triangles, or no triangle at all. Solve each triangle that results. Round lengths to the nearest tenth and angle measures

to the nearest degree. :
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Solve the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.
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l square meters B) 26 square meters \ﬁ) 104 square meters D) 102 square meters
Solve the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.
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Solve the triangle.
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Solve the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.
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Two sides and an angle (SSA) of a triangle are given. Determine whether the given measurements produce one triangle,
two triangles, or no triangle at all. Solve each triangle that results. Round lengths to the nearest tenth and angle measures
to the nearest degree.
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Find the area of the triangle having the given measurements. Round to the nearest square unit.
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A 22° b =14 meters, c = 5 meters '
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B) 28 square meters C) 26 square meters D) 7 square meters
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A) 201 miles B) 175 miles C) 166 miles @92 miles

surveyor standing 58 meters from the base of a building measures the angle to the top of the building and
ds it to be 37°. The surveyor then measures the angle to the top of the radio tower on the building and finds
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18) To find the distance AB across a river, a distance BC of 181 m is laid off on one side of the river. It is found that B
110.6° and C = 13.8°. Find AB. Round to the nearest meter.
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rl'l\ﬁfﬂ'necesisary, round your answer to the nearest hundredth.
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S@the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.
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' Solve the problem.

25) Twi.) airplanes leave an airport at the same time, one going northwest (bearing 135°) at 424 mph and the other
& going east at 345 mph. How far apart are the planes after 2 hours (to the nearest mile)?
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A) 1184 miles B) 711 miles @)‘,1-’422 miles D) 1268 miles
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. 26) Two sailboats leave a harbor in the Bahamas at the same time. The first sails at 21 mph in a direction 330°. The

AR\ second sails at 30 mph in a direction 190°. Assuming that both boats maintain speed and heading, after2 hours,
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wo points A and B are on opposite sides of a building. A surveyor selects a third point C to place a transit

qint C is 49 feet from point A and 66 feet from point B. The angle ACB is 47°. How far apart are points A and
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@ 48.4 feet B) 105.7 feet C) 94.7 feet D) 67.5 feet

28) A painter needs to cover a triangular region 64 meters by 68 meters by 71 meters. A can of paint covers 70
square meters. How many cans wﬂl be needed? G- + L 6Y+6T47] ) ” ! ol. 5_.-
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Use Heron's formula to find the area of the triangle. Round to the nearest square unit.
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@127 square yards C) 136 square yards D) 133 square yards
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